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1 | 52 | W A# | 2 | HEAYF 58.53] 1 03.73] 2 02.26 0. 00
2 53 JIF | 2 | MR 58.27| 1 04.30] 2 02.57 2.23
3 | 62 | EH Rt | 2 | FH 59.45| 1 04.88) 2 04.33 14. 90
4 | 60 | PEE Wi | 3 | BIER | 1 00.11] 1 06.49] 2 06.60 31.24
5 | 59 | [ FEHE | 2 | H&EMEH | 1 01.67] 1 06.51] 2 08.18 42. 61
6 | 70 | HF KM | 1 | HEPEF | 1 00.410 1 08.24] 2 08.65 45. 99
771 | HFE FE 1 | H&Eah | 1 01.750 1 07.50] 2 09.25 50. 31
8 | 64 | FnHH K | 2 |HEPEH | 1 01.65] 1 07.81] 2 09.46 51.82
9 | 58 | WEJIEKES | 2 [#rexemm| 10 01.81] 1 09.36] 2 11.17 64. 13
10 | 57 | HHA o2 TfEp | 1 02.52] 1 08.98/ 2 11.50 66.51
11 66 | hE F} 1 | Bkibss | 1 03.83 1 09.24 2 13.07 77.81
12 | 55 | K#f e 1 | Bkibs | 1 03.99) 1 09.81 2 13.80 83. 06
13 | 61 | AEFT 5% 3 | #ERmd | 1 01.78 1 18.34] 2 20.12 128. 55
14 | 54 | SRIEME—ER 1 J\EFEF| 1 07.09] 1 13.36] 2 20.45 130.93
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20 | 73 | BE —FF | 1 |HfEEY 1 38.79] 2 23.50) 4 02.29 863. 95
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51 | R WIE | 2 | H&EfH DF
72 | A E | 2 | TR DF
B BEAR KL | 1| THET DF
68 | VERILEWRES | 1 | ¥EFETP DQ
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10 | 34 | JIls BB 1 | BES 52.01 54.70| 1 46.71 282. 76
11 | 38 | SRIEM&—BR 1 |\EHET 50. 85 56. 19| 1 47.04 286. 36
12 | 35 | PHJR IEME | 2 | H{EFETP 51.90 55.93| 1 47.83 294. 97
13| 36 | K#fp e 1 | #kib&EH |10 07.71 52.68/ 2 00.39 431.83
14 | 44 | EA WA | 2 HEEFET] 1 02.34 02.30] 2 04.64 478. 14
15 48 | &K fok | 2 | THE 53. 61 15.13] 2 08.74 522. 81
16 | 54 | T Mk | 1 | THES | 1 40.56 34.53| 3 15.09| 1245.79
41 | Moo B | 1 | Elgd DS
40 | P T | 3 | BEd DF
45 | B3} 2 | HkilEH DQ
46 | Tk 4L | 3 | THEH DQ
49 | FoH  AFK 2 | BEAYF DQ
51 | & e | 2 | TR DQ
52 | R —F | 1 | #{EFREF DQ
53 | WP KE | 1 | HEAEP DQ
55 | HE FnE | 1 | HEEH DQ
56 | BA FE% 1 T DQ
57 | BEB OB | 1| THEET DQ

feffrfize (AR HAk)




ool JnfE PR A — i T RS
TFT % AT v PARATa— ABEEARRESR

B B 2014E1H128 (k)
2 Y BUARFZT—YKEHza—
Wi e B oM 10KE304y BT 14K§3047
<R (10300 HIFE) > <a—AFa 74— > <2 Y—>
SR -2.5C £ R 96 0m Hfrft fi) AR H. &k
JEE Ak A B — NMEE 86 0m WEEEE PR E 2
FUE  5.0m TJ4=yalEE 630m O A I HER
E| -3.0C B oEm = 230m I—ARE H B
WE 65% &SR wW ®
R& = R H 5
EE )7 % 1 KB 33 fEf ty X —1AKH AKRE
2AKH 34 JEfH 2B /NEFIESE
H—H1ARE 32
2AKH 34
| s o . . 1AH 2 KH &t V=K AV b
[t AR = A VI R SO S & s B B (5 B =830
1| 12 # RS 3 Al 57.211 1 06.22| 2 03.43 0. 00
2 121 | /MR FEFE | 2 | MM |1 00.33] 1 07.30] 2 07.63 29. 94
3 | 17 | /AR ZER 3 (pgE | 1 00.10] 1 08.60| 2 08.70 37.57
4 | 14 | KIK | 3 EKHET 59.92/ 1 09.01] 2 08.93 39. 21
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6 | 16 | FrW HE | 3 | HEAF |1 01.12] 1 09.62| 2 10.74 52.12
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